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(Only for Agriculture Part-II)
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Note: (i) There are inall 17 questions in this question paper. All questions are compulsory.

1.

(it) Question No. | is multiple choice type. Question No.2 to 6 are definite answer type
questions. Question No. 7 to 11 are very short answer type which are to be answered in
about 50 words. Qucstion No. 12 to 14 are short answer type which arc answered in about
150 words each. Question No. 15 to 17 are long answer type which are to be answered in
about 300 words each.

(iii) Marks allotted to all questions are mentioned against them.
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( Multiple Cheice Type Questions )
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Four options are given in each part of question. Write the correct answer in your answer-book ~

{A) According to Robbins, what is the nature of economics -

()  Positive Science (i) Normative Science
(iii) Art (iv) Artand Science both
=
(B) The name of the book written by professor Adam Smith is - =
(1)  Theory of Economics (i) Wealth of Nations E
(ili) Wealth and Nations (iv) Theory of Economics and Planning “g
(C) If price elasticity of demand is zero, then the demand line is — <
(1)  Parallel to Y- axis (i) DParallel to X- axis §
(it}  Sloping downward (iv) Sloping upward é’_‘
(D) Marginal utility is that utility which we get from - g
(i) The first unit of the commodity (if) Last but one unit of the commodity a
(iii) Al units of the commodity (iv) Onc cxtra last unit of the commodity =
(E) Highest wheat producing state in India is - 5
(i)  Pumab (ii) Uttar Pradesh g
(iii) Hariyana (iv) Uttarakhand =)
=
T Sy
(Definite Answer Type Questions)
2. FUHRT @) ufsimar Do 1
Define Consumption,
3. T amr ange @ 7 1

What is demand ?
4. ISR ITeE T fuTE # ayr aef & 7

What is the meaning of *Market’ in economics ?
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WreE & A WE BT |
Clarify the meaning of organisation.

57 ) Uw glarar SR |

Give one definition of Labour.

afa g S 9v
(Very Short Answer Type Questions)

Hive A AT B BT BREN B Hifd |

Mention the two causes of unemployment in India.

IUATNAT | T AT & 7 FEIBIV b WHSIEY |

What is meant by utility ? Explain with example.

aRE H HY @ eSu & 37 W eRY qagd |

Point out two main causcs of agricultural backwardness in India.

517 T | 39 T A § 7 SETEOl qaW aHEEq |

What do you understand by Division of Labour ? Explain with example.

G TR Y 2000° @ QA II9T q@IY |

Write two objectives of ‘National Population Policy 2000°.
http://www.ukboardonline.com
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(Short Answer Type Questions)

fafaa @1 ufme Hifsre | R Fa g BT 2 °?

Define Exchange. When exchange takes place ?

qoh i fa-fa arar ox PR aRar & 7

Write the factors which affect the capital formations ?

s fafdrear @ SN B oowan #fag

‘Rent is a reward for specificty’. Explain,
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fawga a8 uwa
(Long Answer Type Questions)

15. #RA A FfY &= & faem d§ wear) 9fRfal & drrem & @ $I[ | 6

Explain the role of co-operative societies in the development of agriculture in India.

Jqal (OR)

AR A Y fagors & Qs B aHeEw |

Discuss the defects of Agricultural Marketing in India.

16. faraxe @ drnw Icreear Rigid @ We BN 9d47 66T 9E] W gdigd | 6

Explain the marginal productivity theory of distribution and write its limitations also.

31qar (OR)

P B ATA B axadl JHH Rigia & GHsy |

Explain Keynesian theory of liquidity preference of Interest.

17. IRa ¥ PN A & IuRwoE @ REvss & sRo, wieat vd SuaRl @ fAger
B | 6

;&.nalyse the causes, cffects and remedies of the subdivision and fragmentation of agricultural
holdings in India.

JUal (OR)

ARG AefayeaRen o oy ael GeR ST & 91 96 8 7 WRd A §9d Uad @ ol
&R § ?

What is the importance of small and cottage industries in India ? What are the causes of downfall
of these industries in India ?
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